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$3.30

$3.40

$3.50

$3.60

$3.70

Kristen

Logic Puzzles

Presented by Puzzle Baron
Puzzle ID: A350SE

Willie For hints, solutions and more puzzles, go to
www.Printable-Puzzles.com!

Susan

Toni

Servers

Yvette
caffe latte Prices Customers Orders Servers

cappuccino $3.30
$3.40

espresso
$3.50
macchiato $3.60
mocha $3.70

1. The drink ordered by Bryan cost 30 cents more than the beverage ordered by Greg..

2. The coffee that cost $3.60 wasn't the macchiato..

3. The espresso cost 10 cents less than the coffee served by Kristen..

4. Neither the drink served by Willie nor the coffee that cost $3.60 was the beverage Austin ordered..
5. The coffee ordered by Jacob was the caffe latte..

6. Of the beverage that cost $3.70 and the drink Austin ordered, one was the cappuccino and the other was served by
Toni..

7. Of the beverage that cost $3.70 and the coffee Austin ordered, one was the espresso and the other was served by
Susan..

8. The beverage served by Willie cost 10 cents more than the caffe latte..
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